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All Candidates' performance across questions

Question Title
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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5. Give three different ways the deskiop environment can be customised to manage multi-media
software. [3]
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5. Give three different ways the desktop environment can be customised to manage multi-media
software. [3]











Question

Answer

Max mark

5

Award one mark for each correct answer up to a maximum of three
Create shortcuts / pinned to taskbar

Create folders / move folders / organise folders

Adjust volume/ sound settings

Screen resolutions

Adjust window size / splitscreen

3
















This answer was awarded 1 mark out of 3 as the correct answer of ‘move folders’. Images and
software are incorrect answers.
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This answer was awarded 1 out of 3 marks for giving the correct answer of ‘software’. The second
answer of navigation / search bar was incorrect.
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Give three different ways the desktop environment can be customised to manage multi-media
software. [3]
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This answer was awarded 2 marks out of 3 for the two correct answers of changing the window sizes
and changing the resolution.
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(c) Other than name and postal address, give two items of data that would need to be
verified by the customer when making an online purchase and give a suitable, different
[2 % 2]

verification check for each.
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(¢c) Other than name and postal address, give two items of data that would need to be
verified by the customer when making an online purchase and give a suitable, different
verification check for each. [2 x 2]
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9(c)

Award one mark for each correct answer up to a maximum of four.

Field Verification Method Accepted
Email address Double entry keying / Type it in twice
Read before submit/proofread
Password Double entry keying / Type it in twice
Date of delivery Read before submit/proofread
Quantity Read before submit/proofread
Telephone number Read before submit/proofread
Card/ payment details Read before submit/proofread
Security code Read before submit/proofread

Any reasonable field name.

Double entry keying / Type it in twice — only award if they have given email or
password for the field

For full marks must have two different fields and two different verification
methods

2X2
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This answer was awarded 3 out of 4 marks. The correct answers were email address and double
keying. The third correct answer was the age field however unfortunately a validation technique was
given instead of a verification method.
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This answer was awarded the full 4 marks. The correct answers given were telephone number with a
visual check as the verification method. The second correct field given was an email field with a
correct verification method of double keying.
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This answer was awarded 2/4 marks. Two correct field names were given — card details and
telephone number. However unfortunately, an incorrect verification method was given for card
details and a validation method was given for telephone number.










9.

On-line shopping is used by many people all around the world.

(c) Other than name and postal address, give two items of data that would need to be
verified by the customer when making an online purchase and give a suitable, different
verification check for each. [2 x 2]
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10. For each conirol system used in the home, listed below;

.

name a sensor used for the control system (must be different for each system);
name an output device used in the control system (must be different for each system);
describe how the systems works. [3 x 3]

Burglar alarm system
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10. For each control system used in the home, listed below;

name a sensor used for the control system (must be different for each system);
name an output device used in the control system {must be different for each system),

describe how the systems works. [3 x 3]

Burglar alarm system
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10. For each control system used in the home, listed below;
name a sensor used for the control system (must be different for each system);
name an output device used in the control system (must be different for each system),
describe how the systems works. (3 x 3]
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Question

Answer

Max mark

10 (a)

Award one mark for each correct answer
One mark for each different sensor X3

One mark for each different output device X3
One mark for each different description of use X3

Indicative content

Burglar Alarm

Sensor = Pressure / Passive infrared / Light beam / Motion / Sound

Output device = Speaker / Light / Screen

Description of use = At night a pressure sensor could be placed under a mat, on
windows to raise awareness of a burglar and sound the alarm.

Smart Meter
Sensor:
e Magnetic Resistance
e Current / Voltage measurement (Ammeter / Voltmeter)
e Thermistor (heat)
e flow sensors (gas measurement)

Output device:

e App on mobile device screen or computer screen
Remote device screen / hub screen
Utility company server
Meter readout screen
Speaker (for alarm)

e LED
Description of use:

e Automatic real-time usage stats
Automatic meter readings
Room temperature measurement
Usage alarms
Cost indications

Electronic Toy

Sensor Description Output
Microphone (in the Voice commands to toy Motor (makes dog jump)
context of detecting dog to jump Console switches on
sound) Voice commands to (power)
games console to switch
on

Infrared sensor Toy Dinosaur moves Motor (makes it move)
when detects object in
front

Pressure switch / push Toy car reverses and Motor

switch / push button turns when hits an object
Doll stops crying when Speaker turned off
fed by bottle

3X3






Question

Answer

Max mark

Motion sensor

When ball is rolled it
changes colour / makes
a noise

Speaker/lights

Detects speed of motion
on device e.g. swing on
controller to hit on screen
ball

Light sensor When gets dark child Light bulb
security light glows

Touch sensor Dolls/bears talk when Speaker
tummy pressed

Temperature sensor Childs bath toy warns if Speaker
too hot

Accelerometer Remote control cars Motors

Speaker, Monitor (on
screen movement)

Spatial sensor

Car when it hits objects
changes direction

Motor (turns wheel)

swing on controller to hit
on screen ball

Biometric sensor e.g. | Digital diary for a child | Motor / switch to unlock
fingerprint with a security lock
GPS Used to detect where a | Motors (changes position)
drone is and map where it
is
Gyroscope Detects tilt on device e.g. | Speaker, Monitor (on

screen movement)
















This answer was awarded 5/9. For the burglar alarm system, a correct sensor was given and a

correct description of the system. However, an output device was not given for this system as an
alarm is not an output device.

For the smart meter system — a correct sensor was given, however there was not a correct
description of use or a correct output device.

For the electronic toy, two marks were awarded for a correct sensor and a correct description of use
—how the toy would move was described. Again, there was no correct output device given.
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This answer was awarded 5/9. For the burglar alarm system, a correct sensor was given — a pressure
sensor, a correct description of the system was given and a correct output device — a light.

For the smart meter, 1 mark was awarded. A correct sensor was given, however the description of
use was not correct and there was also an incorrect output device.

The electronic toy answer was awarded 1 mark for the sensor. There was not a clear description of
use and vibration is not a correct output device.
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This answer was awarded 2/9. For the burglar alarm system, a correct sensor — a movement sensor
was correctly given. However, the description was weak and no correct output device was given.

For the smart meter system, a correct description of how the smart meter works was given, No
sensor or output device were given so could not be awarded any marks.

The electronic toy answer was too weak. There was no sensor, no description of use and no output
device included in the answer.










10. For each control system used in the home, listed below;
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